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5 DesignActivity 1. Requirement Gathering 2. Concept Design 3. Detailed Design 4. Final Design 5. Design Revisions

Project Goals  Problem Statement  Customer Definiion  Customer Interviews  Product Design Spec  Engineering Requirements  Phase Review

F $ I I Present Interview Font Type: Calibri - Fontsize: 10 - B |/ (U W X O ¢
. . Customer Interviewed Interviewers: Date:
* 1. Regulatory Agencies _~] [Robert Jones, John Vinti, Alex Filinov, Emily Bedell, Alysia Strickland __+]| | 2014-10-09 ]
$ O Questions to Ask Customer: Customer Response
' What s the primary function that the tensile testing apparatus needs to be able to provide? | | The tensile testing apparatus needs to be capable of applying a 30,000 pound pull force to a
| $ standard 3/4" hex head steel bolt.
$ Customer Req. Extracted: [Capable of applying a 30,000 pull force td| Design Var. Extracted: [ pull force | category: [Function -]
Archive: Ideal: [ 32,000 ] min: [30,000 ] Max: [inf ] nit: [os Save
. . DATE CUSTOMER QUESTIONS REQUIREMENT DESIGN VAR VALUE UNIT CA "
1.Regulatory  Whatis the primary function that the Capable of applying a 30,000 pull
$ $ 1 2014-10-09 Agencies tensile testing apparatus needs to ... force to a standard 3/4" hex head pull force 32,000 lbs Fy
2 2014-10-11 9. Engineering What is the primary function that the [SEVERIENTEVSIVIRERIN pate: 2014-10-11
Consultants  tensile testing apparatus needs to ... (Sie IISICEUISLMIE Customer: 9. Engineering Consultants
3.Servicingand  Whatis the primary function that the - Capable of applying a 30,( Interviewers: Robert Jones, John Vinti, Alex Filinov, Emily Bedell, Alysia
3 2014-10-07
. Calibration Contrac... tensile testing apparatus needs to ... force to a standard 3/4" he Strickland
X 1. How much can the tensile testing Low-mid price range for te| Questions Asked: What is the primary function that the tensile testing
4 2014-10-11 6. Accounting e 1o be bl e
* | apparatus cost? 2. What s the cos.... instruments (MSRP < $10| apparatus needs to be able to provide
. + | » 1. How much can the tensile testing  Low-mid price range for te Customer Response: The tensile testing apparatus needs to be capable of
5 20141009 5.Marketing o ratus cost? 2. What is the cos... instruments (MSRP < $10] aPPlying a 30,000 pound pull force to a standard 3/4” hex head steel bolt
Requirement Extracted: Capable of applying a 30,000 pull force to a
| A 2014-10-09 5 Marketina What can you tell us aboutthe |\, 4 1o care standard 3/4" hex head steel bolt
. <

Requirement Category: Function

$ $ ' % S

B ' Cost Requirement Exceeded X
DesignActvty 1. Requirement Gathering 2. Concept Design | 3, Detaled Design 4. Fnal Design 5 Design Revisons
o Your cost for aggregate cost for the column titled Designideas  Design Descripion  Design Selection  Design Overview _ Phase Review
] COST ($ 1319.2 4) exceeds the system bu dget Weights for Design Selecton Selection Method: [2- o & Decision Mati_»] Font Type: Galiri - Fontsize: 10 = N
’ GUSTOMER NEED GUSTOMER IMPORTANGE Volume People needed to operate Weight Mean operating temperature Useful life pull force MSRP_ Probability of accide
($1 000) . Copale o 201ing 30,060l sandar 4 eadsiel ok =l o o o o o o B
. Lo i rangefor g rsumenis (SR < 51000 5 = . . . e e .
o Mstbesse wzss e e o o o 5 o | o .
 Fitwitinhe dimensions of 30 12°x 12 s o e o o o o o o o
5 Must allow single-person installation and use 247 - ‘7 -] 0 7 0 0 o 0 0 0
o Mustoe prate T 7 o o . o oo o o
4 $ # 5 - N . : N N N
o Reasonableusetl e (2 year < Lite < 20 years) PR e o o o B o o o
9 Absolute Importance: 49 49 49 40 48 81 63 48
1(0 WEIGHTS: 0,09 0.09 0.09 0.07 0.08 014 011 0.08 5 v
. - Volume People needed to operate Weight Mean operating temperature Useful life pull force MSRP Probability of accident Width Depth Height A
1 WEIGHTS:  0.09 0.09 0.09 0.07 0.08 0.14 0.11 0.08 0.09 0.09 009
< % < + 2 CONCEPTS: SCORES:
3 Lever 5 s s 5 5 0 0 s 5 (5 5 e
4 Jackscrew 5 5 s s 5 6 s 5 5 5 5 e
- $ $ 5 ) $ s orearal 5 s . s s s s s 5 s s

G * $ '7 Lever ] [Figh (Clear Favorite) =] e tever design yields the highest score. Analyze
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